
Bois requis Kit 19213
Cèdre, pruche ou bois traité 4' x 16'_64 pi.ca.

5' x 16'_80 pi.ca.

4'x16' 4'x12' 5'x16' 5'x12'
2'' x 6'' x 8pi 20 16 2'' x 6'' x 10pi 20 16

2'' x 6'' x 16pi (ou 12pi) 3 3 2'' x 6'' x 16pi (12pi) 3 3

4'x16' qté 4'x12' qté 5'x16' 5'x12' qté
Longeron A 192'' 2 144" 2 192'' 2 144" 2
Renfort intérieur B 188-3/4'' 1 140 3/4'' 1 188-3/4'' 1 140 3/4'' 1
Embout C 44 3/4'' 2 44 3/4'' 2 56 3/4'' 2 56 3/4'' 2
Support à flotteurs D 48'' 4 48'' 4 60" 4 60" 4
Platelage (deck) E 48'' 34 48'' 25 60" 34 60" 25

Illus. 5' x 16'

#10 x 3 1/2" 0 #10 x 3 1/2" 0

Illus. 4' x 12'

ou info@multinautic.com

Vis à bois  (comprises)

Formats coupés

Longueurs à vous procurer

A

BC

D E



Kit 19213 Quincaillerie pour Quai Semi-Flottant
4' x 16'_64 pi.ca.  Haut Francbord
5' x 16'_80 pi.ca.

KIT #19213 Description Fomat Qté VÉRIF.

  BOÎTE  A 37 lb 15" x 10" x 6" 1

11104 Serre-pieu 6" x 7" x 3/16" 2
11107 Plaque de fond 6" x 6" x 2 1/8" 2
13300 Plaques de renfort 5" x 5" x 1/4" 10
22103 Jeu de boulon à carrosserie (24x) 1/2" x 3" 2
22170 Vis à bois (50x) #10 x 3 1/2" 1
22172 Vis à bois (100x) #10 x 3 1/2" 2
22162 Tire-fond et rondelle (8x) 3/8" x 4 1/2" 1

  BOÎTE  B 37.2 lb 10" x 8" x 6" 1

13303 Joints de quai 5" x 5" x 1/4" 2

13305 Coins intérieurs 6" x 5" x 1/4" 6

15005 Capuchon de pieu en PVC diam. int. 1 11/16" 2

  PIEUX 13.2 lb 48" x 1,75" x 3,5"

11006 Pieu en acier galvanisé 4' x 1-11/16" diam. 2

  FLOTTEURS 2x 36.4 lb

14018 Flotteur moussé 600 lb cap. 24" x 48" x 16" 2

Préparé par : ________________________________ Date:__________

Illus. 5' x 16'

ou info@multinautic.com  info@multinautic.com

BO
ÎT

E 
A 

BO
ÎT

E 
B

4' x 16' ou 4' x 12'
5' x 16' ou 5' x 12'



Lumber needed Kit 19213
Cedar, Hemlock or Treated Wood 4x16_64 sq.ft.

5x16_80 sq.ft.

4'x16' 4'x12' 5'x16' 5'x12'
2'' x 6'' x 8 ft 20 16 2'' x 6'' x 10 ft 20 16

2'' x 6'' x 16ft (or 12ft) 3 3 2'' x 6'' x 16ft (12ft) 3 3

4'x16' qty 4'x12' qty 5'x16' 5'x12' qty

Side beam A 192'' 2 144" 2 192'' 2 144" 2
Interior joist B 188-3/4'' 1 140 3/4'' 1 188-3/4'' 1 140 3/4'' 1
End beam C 44 3/4'' 2 44 3/4'' 2 56 3/4'' 2 56 3/4'' 2
Float (frame) support D 48'' 4 48'' 4 60" 4 60" 4
Decking board E 48'' 34 48'' 25 60" 34 60" 25

Illus. 5' x 16'

#10 x 3 1/2" 0 #10 x 3 1/2" 0

Illus. 4' x 12'

or info@multinautic.com   

Board lengths (not included)

Cut sizes

Vis à bois  (comprises)

A

BC

D
E



Kit 19213 Semi-Floating Dock Hardware Kit
4x16_64 sq.ft. High freeboard
5x16_80 sq.ft.

KIT #19213 Description Size Qty VERIF.

  HARDWARE BOX A 37 lbs 15" x 10" x 6" 1

11104 Leg holder 6" x 7" x 3/16" 2

11107 Base plate 6" x 6" x 2 1/8" 2

13300 Back plate 5" x 5" x 1/4" 10

22103 Carriage bolt kit (24x) 1/2" x 3" 2

22170 Wood screw (50x) #10 x 3 1/2" 1

22172 Wood screw (100x) #10 x 3 1/2" 2

22162 Lag screw w/large washer (8x) 3/8" x 4 1/2" 1

  HARDWARE BOX B 37.2 lbs 10" x 8" x 6" 1

13303 Dock hinges 5" x 5" x 1/4" 2

13305 Inside corners 6" x 5" x 1/4" 6

15005 PVC pile cap 1 11/16" I.D. 2

  POSTS 13.2 lbs 48" x 1.75" x 3.5"

11006 Galv. steel post 4' x 1 11/16" O.D. 2

  FLOATS 2x 36.4 lbs

14018 Foam filled float R-600 24" x 48" x 16" 2

Prepared by: ________________________________ Date: ___________

Illus. 5' x 16'

or info@multinautic.com    info@multinautic.com

BO
X 

A 
BO

X 
B

4' x 16' or 4' x 12'
5' x 16' or 5' x 12'


	19213-Fiche-de-spécifications
	19213-Spec-sheet

